
I : HR30305 DJ & BLB Arrangement
It : HR302065
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Moments :

(50 + a =
+ 4) F = 5500x(10 + a

+) =) Fri = 5500x9 = 15 N

(83. 8) Fry = 5500(40 + al) => Fri =

550x = 5500x = 31

From catalogue :

C = 384000N
,

Co = 40500N
, ex = 0 . 83 , Y = 0 . 13SI C = 43, 000 N

, Co = 47500N
, C1 = 0 . 37 , Ye = 1 . 6

Fe+ Fri = 2000 + 1 3931 = 3
1. 0

Fi x 1569 = 120

: FreFIF

This means axial load Fue+ Fre is applied to bearing I but not to 1.



Thus
,

Fac = Fre+ Fri = 34

=00X
y = 0 . 73

=> PE = XFrI + Y
: Ful

= 0 . 4/1569) + 0 . 73(3474) = 3164N

40, = () = 3967 million vers

For bearing I , Pe = Fre = 3931N

↳0, =( = 2406 million vers

Assume the shaft runs at n = 600 rpm. Then
,

1
hi=100 = 110

,
20oras

L=AX10" = 80,0 a

Static loud factors :

Bearing I - Fre = 1564 and 0 . 5 Fri + YotFaz = 0 .5 x 1569 + 0 . 4x3474 = 2174

Pot = 0 . 5 Fri + 0
.4 Faz = 2174 N

+siz = tot 105 18 . 6

Bearing I-Fre
= 3931 and Fal = 0. Thus

Pol = Fri
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